CCE RR

Code No. 81-U
Subject : MATHEMATICS

( Urdu Version )
( New Syllabus )
( Regular Repeater )

: ._’p'l:’,?(tp

J’Zuﬂy&(p (Subjective) (§#%v3 (Objective) u:%/fuﬁ.g.ﬁ/i_,m C Jir
_ugaulr40uf‘f9

F AL G iz o e b2 GE T JS\w bl LIL A58
-+t@iuﬁ~.5

et eI L Ik T JE L b L LUl s
_u:{,m&tbéay},&fj;iéuﬂyifui»&ﬁmtu"‘; )

el S5 ISt b Sl ndl e S5 Uiz S
(Lug

Y-S /f&u}zutc/’wfuﬂvz_ué_ém «§4~be(Multiple choice) Q&2
U Lboingle i e i1 $ b ) X

e Ve Mo 15 L Ly o i

e JOBle L L d LK,

L e St E el e

i

(i

(iii

(iv

(vi

(vii

(viii

Turn over | RR-0306 98242




81-U 2
51@_5/:,wui-wég;d;pjgééyﬁcuﬁ;ﬁgﬂ/;,UlrJ“s,yw I
8x1=8 -uf{,tmj‘i’véf.sféwuﬁ,éo;/ﬂl}jvédwﬁmufid;;i

ég?u/,%/wa.—ufuu n €S0 1
¢ “n+1 -

(B) (A)

(D) (C)

Wi~ N]w

¢ c‘_JaA’&Y‘/‘LUQ‘AL bl a LJ)(C'—J:J“}Z//) 2

2a + b a+b
(B) (A)

ab 2ab
2a + b D) 2ab ©

a+b a+b

s e UL 3N Dz N1 s 6 < 1 siig JiAl 3

fntx@ﬁo[tﬁ.ﬂd’i@w
(B) (A)

(D) (C)

Qlw o~
alINn o+

_ef{(kuﬁ:d/y»_a, 5 <o K6 kAN 60 (x) 2belo iy 4

0-03 (B) 0-3 (A
30 (D) 3 (C)

RR-0306 98242




3 81-U
¢ ‘L‘}ngﬁwfd/f(m e F(x)=x2 —ox+20 72 08mm 5
11 (B) 20 (A)
29 (D) ~20 (C)
Ut JL/M}/;/’!; PB »l PA -« // Kosb O (U~ Jﬁé’/d; .6
& LAOB Pn LAPB = 40°/
50° (B 90° (A)
140° (D) 130° (C)
_c‘,gabb‘(f/u:d)’&/uyné ABC = 90° (- B ABC .7
A
gLl C
AB? = AC? + BC? (A)
AC? = AB*+ BC?* (B)
BC? = AB? + AC? ()
BC? = AB* - AC?* (D)
Turn over | RR-0306 98242




81-U 4
< (Slope) W3Sl 32/ (5, 2) sl (-4, 1) b6

9 (B (A)

O|lw Y|+

1 (D) (C)

.8

6x1=6 FEAY OIS STV

_Z P (AnB) I B= (5,6, T} 4 A= (1, 2, 3, 4, 511
_E e 18 12

e bonk x°+2x%-5x-6 u’g/.'-?/

_ér)’”.wfd/s cosec x # sinx = %fi

Aokl ik Adss

_2{(#..:4{&@ YU 6x-y+3=0L

D}Z%L/X{.u;}}&g}}%—? 16 2! &K 25 <2_..ng’/.’ 30 uﬁ'oﬁjé;l/.lﬁ?,
2 Y, 2 (P AT DR Y I

-ép%j%ﬂO K %,

N

9

.10

.11

.12

.13

.14

15 I

17

RR-0306

98242



5 81-U
a1 a4 AR AT T to e b Ll 53 2 18

2 -c.[/r}’”wfu( b -t
gd’.ngfibu&)/‘“;"é_lg%Jkié_g@”%ﬁwgﬁé—u:ﬂﬁ’ih.f18 & 10 .19
2 _ér}‘”ubl
2 _Ee A8 43 32 20
2 L wl b 21
J6 -3
2 :é(k‘ﬁgmu*?@/uc;%}éﬁ%f} 22
(3x°-2x% +7x-5)+(x+3)
L
e x2+2x- 369/§G;4L/Z;"Lﬂjﬁp(x) o oo+ x-1874
e bl
2 S B P X2 _7x+12-0 .23

&VJV@Q{@/V.Q&/S_’“L&/SKSQ 6 cm u’:g//bé/;_;w[ 3cm .24

Turn over | RR-0306 98242




81-U

6

5"4 H LY AE ,ﬁu}'} DB -« E $iAl; BC U~{ U5 ABCD

2

2

2

2

D

—c by AH.HB = HD.EH J& b e b/

H E

A

77

B

C

—ewbosll AU (1-sinA) (1+tan?A) =1 JZerk

_Zklebnd (6, 6) (2, 3) b
s bl L3 2, 88 IKCPSL b6 7em

&t
fod
-

r)‘”ﬁﬂ;}_‘a 27 cm 1 14 cm o LSkl B s KL/@S.LL’}&'Q

2

L

&t
fad
-

:

S iG S Bid 21 em

D e b I = Lk S 50

[20m =1cm: 2]

D &

£ E 40

140

100
60
20

£ C 40

£ B30

< A

25

.26

27

.28

.29

.30

RR-0306

98242



7 81-U
L2 Suis 3 ﬁ(.‘adwiw“f‘;m 5 o /L USF 4 sy 6 31 IV
3 _c‘-‘jgc;u;.‘?./gggffv

i

-ugéuuwwi (ii) /,|%,L>'£ (i) bW 8 ;zr/?a/’bfq/p””

3 : é()""df’d/&vKawﬁ/&zé;uﬁdﬁygfj@/) .32
(1) S5/ | (f)sd
0-4 1
5-9 2
10 - 14 3
15 - 19 4
N =10

_épj""é'jgu'éw&f%%}f&pé/ 96 -3 40 cm ilpMing .33

e

Z

_ac_lf4 Ko g/»/,lg...gg x2+bx+tc=0 =hl~

3 —c by ab? =25¢ SE ek
3 _uj‘Lﬂd}VJVé}ng/;//bcﬁa}&)ﬁféuL’" .34

Turn over | RR-0306 98242




81-U 8
3 ‘LACQ+BD2=4ABQIécf.Wﬁu3’ ABCD .35

D

PN
AN

B

k
S5 k6 BC c‘-,bﬁuk’; D sl ZABC = 90° AR\ ABC

AC?=4AD? - 3AB?

A
] H H
B D C
S B=30° sl A=60° S1 36
cos (A+B)=cos A.cos B-sin A.sin B
[
sin 0 1+ cos®
3 + - =2 cosec@fgcf,lf'
1+ cos6 sin 6 ¢

W Ua 224 o7 K0P L inl 24 sZ KIS Ml Il 37 v
4 St bl
!

RR-0306 98242




9 81-U
Ykt 112 AL E I 14 ;ﬁ(u&iuféwéxtﬁdm‘ug

_E el
4 Ll Ll up p L UL b il e (e ek 38

Z g é&VJV;ﬁ}J/}&wbuﬁfuﬁbuéﬁﬂ 2cm 4 4cm .39
4 -’%tu&’@)u{uv}#}f}&wbuwuﬁ{dﬁ; 9cm }'/’/

4 -gfc'&/‘f‘/}' x2-x-6=0 <blr@n .40

Turn over | RR-0306 98242




